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ABSTRACT
In the general relativity theory, we find the electro-magnetic field transformation and the
electro-magnetic field equation (Maxwell equation) in Rindler spacetime. We treat
Lorentz gauge transformation, Lorentz gauge, Lorentz gauge fixing condition in Rindler
spacetime. We prove the electro-magnetic wave function cannot exist in Rindler
spacetime in Appendix A. Specially, this article say the uniqueness of the accelerated
frame because the accelerated frame can treat electro-magnetic field equation.
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1. Introduction

In 2007 year, G.F.Torres del Castillio and C.I.Perez Sanchez already discovered Maxwell equations in
uniformly accelerated frame in vacuum (see Ref [13]). In 2011 year, J.W.Maluf and F.F.Faria discovered
electro-magnetic field transformation in Rindler space-time on ArXiv preprint(see also Ref[11]). But they
did mistake they used Maxwell equations of gravity field. Maxwell equations of uniformly accelerated
frame have to treat in flat Minkowski space-time not in gravity space-time.

Our theory’s aim is that we find electro-magnetic field equation in Rindler space-time in vacuum also
not in vacuum in the general relativity theory. In Section 2, we prepare for finding electro-magnetic field
equation in Rindler space-time. In this section, we discover Lorentz gauge transformation and Lorentz
gauge, Lorentz gauge fixing condition, transformation of the electro-magnetic 4-vector potential in
Rindler space-time. In Section 3, we define the electro-magnetic field in Rindler space-time and we find
the transformation of the electro-magnetic field. In Section 4, we obtain the electro-magnetic field
equation in Rindler space-time and we apply the gauge theory to Maxwell equations (discovered by us) in
Rindler space-time for viewing invariant about the gauge transformation.

We think seriously electro-magnetic wave function (radiation) in Rindler space-time but we know it
doesn’t satisfy electro-magnetic wave equation in mathematically (See APPENDIX A). Hence, in 2007
year and in 2011 year, all researchers mistake calculation of electro-magnetic wave function (see Ref
[11].[13]) .

We understand electro-magnetic wave function can exist in inertial frame by J.C.Maxwell or A.
Einstein.

2. Transformation of the electro-magnetic 4-vector potential, Lorentz gauge
transformation and Lorentz gauge, Lorentz gauge fixing condition
The Rindler coordinate transformation is
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In this time, the tetrad @7, is (see Ref [12], [14])
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Therefore, the transformation of the electro-magnetic 4-vector potential (¢ A) = A% is
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The equation of the electro-magnetic 4-vector potential (¢ A) =A% is
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Lorentz gauge transformation is in Rindler space-time,
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Lorentz gauge is in Rindler space-time,
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Hence, Lorentz gauge transformation and Lorentz gauge are in Rindler space-time,
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Hence, Lorentz gauge fixing condition is incl‘?indler space-time,
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Hence, the transformation of the electro-magnetic 4-vector potential (¢, A) in inertial frame and the

electro-magnetic 4-vector potential (¢5 , Ag) in uniformly accelerated frame is
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If we make the matrix of the transformation of the differential coordinate,
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If we make the inverse matrix of Eq(14),
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Hence, the transformation of differential operation is
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3. Electro-magnetic Field in the Rindler space-time

The electro-magnetic field (1_E é) is in the inertial frame,
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We have to calculate for define electro-magnetic field in Rindler space-time. We have to calculate for the

electro-magnetic field transformation in Rindler space-time. We will straightforward calculate it by the

electro-magnetic 4-vector potential transformation, Eq(13) and the transformation of differential

operation, Eq(17).
The X -component EX of electric field &:isinthe inertial frame,
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The J/-component Ey of electric field /_Eisinthe inertial frame,
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The Z-component EZ of electric field &:isinthe inertial frame,
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The X -component BX of magnetic field é’is in the inertial frame,
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The J/-component By of magnetic field éisinthe inertial frame,
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The Z-component BZ of magnetic field éis in the inertial frame,
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Hence, we can define the electro-magnetic field (1_55 , éé) in Rindler space-time.
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We obtain the transformation of the electro-magnetic field.
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Hence, we make the matrix of the transformation of the electro-magnetic field.
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We can obtain the matrix of the inverse-transformation of the electro-magnetic field.
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(See also Ref [11]) Hence, the inverse-transformation of the electro-magnetic field is
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If we apply Lorentz gauge transformation, Eq(10) to electro-magnetic field, Eq(26) in Rindler space-time
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If we apply Lorentz gauge transformation, Eq(10) to the transformation of the electro-magnetic 4-vector
potential, Eq(13),

0
¢_13_A :Cosh(%)(1+a—g§1){¢g —l 8/\0 : i }
c ot c ¢ €O (1, Boy
+7
0
+sinh(%5)(4, + 9
c ¢
0
AX+8—A=s.inh(%)(1+a—g51){%—l 8/\0 1 —}
+ 02
0
+ cosh(%s )(A, +8—A1)
c o¢
oA oA OA oA
Ao At E T -

4. Electro-magnetic Field Equation (Maxwell Equation) in the Rindler space-time
Maxwell equation is in the inertial frame,
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We will calculation for discovering Maxwell equations in Rindler space-time. For this purpose, we will
straightforward calculate it by the electro-magnetic field transformation, Eq(27) and the transformation of

differential operation, Eq(17).
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Maxwell equation’s first law is in the inertial frame,

1.V-E =4znp

We write transformation of the electric field for easy calculating.
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Maxwell equation’s second law is in the inertial frame,
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We write the transformation of the magnetic field for easy calculating.
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Maxwell equation’s third law is in the inertial frame
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Maxwell equation’s fourth law is in the inertial frame,
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We write the transformation of the electric field for easy calculating.
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The X -component of Maxwell equation’s fourth law is in the inertial frame,
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Therefore, we obtain the electro-magnetic field equation by Eq (35)-Eq(43) in Rindler space-time. (See

also Ref [13])
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For instant, we think the spherical charge density o of a stationary accelerated frame is in a charged

<

huge sphere.
t=E=00<x=&y=822=8°<R,

= @ QR _ 3

E:E :—/_:’ = =—=—— _::_::6



3@ _p 32 1 _ 3@

<p = — <
3 £ 3 -
4R (1+ﬁ) (1+i<;§1) 4R (1+%) AnR
C cC c
(44-v)
Generally, the continuity equation is in Rindler space-time,
. o/ '
0=/%= a/ﬂ + 1% /",
r#yp — 1—*001 — %QOO((ZL;;)) _ a_g+
¢ 1
(1+ C—g £
1
g% =- ~ o' =0% = g% =1
(1+ Of )2
c
o7 . - J.a
028_/;+v./:api+vf'/5 “- 1 1 (45)
: © A+ aof )
C

We treat Lorentz gauge transformation, Eq(10) about the electro-magnetic field equation, Eq(44-i)-Eq(44-

iv) in Rindler space-time. We will straightforward calculate it by Lorentz gauge transformation, Eq(10)

and Lorentz gauge, Eq(11), Lorentz gauge fixing condition, Eq(12) in Rindler space-time.
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In this time, Lorentz gauge fixing condition, Eq(12) is in Rindler space-time,
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Hence, Eq(44-i) is
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Eq(44-i) is invariant about Lorentz gauge transformation in Rindler space-time.
Eq (44-ii) is
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Lorentz gauge is Rindler space-time
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If we apply Lorentz gauge transformation to Eq (52),
$: — P; —% 6820 31051 2 , /ZL; —>A?§ +§§A, A is ascalar function.
(1+ o )
471' =
o
0
_% 1 (08,8, 2B % 45
c? c
2
a1 9y au00)
(1_'_@51)3 c° c° o0&
o2
dvie L (e Lo (D
4 Cz 8y .o 850 5 5 02 8y .o 850 S
(1 +?§ ) (1 +?§ )
+§§[_ 1 1 a—gA§1]+§§— 1 1 3_(2)61\1
(14 %5 ) € (14 ooy C 06
c? c?
0
_% 1 (08,8, 2B % 45
c (1+ao(§) (1+ig§1)c co&
c? c
S . R SN




+[—V§2 +— ( 0 )2]A’§+[_ 52 + 12 1 ( :
C (1 ao §1)2 85 C (1+@§1)2 85
2 CZ
2

+ 1 1 804 /451 (1,0,0) _ 1 1 a(; nga

1+ 25y € 1+ %5

1 a oA i a o

’ 8,¢'\ 004 551(0’0)_ ¢! 6_2851 :

(1 02 ) (‘]+ Cz )

In this time, Lorentz gauge fixing condition, Eq(12) is in Rindler space-time,
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Hence, Eq(44-ii) is invariant about Lorentz gauge transformation in Rindler space-time.

Eq (44-iii) is
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Eq (44-iv) is
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Hence, Eq (44-iii), Eq (44-iv) are invariant about Lorentz gauge transformation in Rindler space-time.
Hence, the electro-magnetic field equations (Maxwell Equations) in Rindler space-time, Eq(44-i)-Eq(44-
iv) are invariant about Lorentz gauge transformation.

5. Conclusion
We find the electro-magnetic field transformation and the electro-magnetic equation in uniformly

accelerated frame in one theory.
Generally, the coordinate transformation of accelerated frame is (see Ref [9])
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If you try to use Eq(59) for make Maxwell equation in Rindler space-time, You have to fail it.
In A.Einstein’s article (see Ref [10]), Einstein obtain Lorenz transformation by Maxwell equation in

inertial frame, Einstein give up Galilei transformation in inertial frame. In accelerated frame, we think our



article’s choice is Rindler coordinate (I) can treat electro-magnetic field equation likely Einstein’s election.

APPENDIX A
In 2-Dimension Rindler space-time, if we mistake calculation, we can think the electro-magnetic wave
function.
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g T Ex T =xo0 c
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In this time,
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(A-1) have to satisfy the following equation.
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If we calculate Eq(A-3),
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But next calculation’s situation is different.
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Inthis time, O(af) = BDa + aDP
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Hence, if we compare Eq(A-4) and Eq(A-5),
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Therefore, we think it cannot exist electro-magnetic wave function in Rindler space-time.
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